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Question 1
Question Type: MultipleChoice

A project manager is monitoring team performance by comparing committed versus completed work. The project manager creates the

following:





Which of the following most likely represents the number of items in the backlog?

Options: 
A- 23

B- 5

C- 10

D- 15

Answer: 



A

Explanation: 
The number of items in the backlog can be determined by looking at the ''Commitment'' column for each sprint in the provided chart. For

Sprint 5, there is a commitment of completing 23 items, which is the highest among all sprints. This indicates that there are at least 23

items in the backlog to be worked on. This is consistent with the concept of agile project management, which allows for changes and

additions to the project scope based on customer feedback and changing requirements.Reference=CompTIA Project+ PK0-005

Certification Study Guide, Chapter 14: Agile Project Management, page 321.CompTIA Project+ Cert Guide: Exam PK0-004, Chapter 9:

Agile Project Management, page 287

Question 2
Question Type: MultipleChoice

After a migration was completed and a financial system was deployed, users have been unable to issue payment orders. Which of the

following should be implemented?

Options: 

https://www.comptia.org/training/books/project-pk0-005-study-guide
https://www.comptia.org/training/books/project-pk0-005-study-guide
https://www.comptia.org/training/books/project-pk0-005-study-guide
https://www.comptia.org/training/books/project-pk0-005-study-guide
https://www.comptia.org/training/books/project-pk0-005-study-guide
https://www.comptia.org/training/books/project-pk0-005-study-guide


A- Rollback plan

B- Release plan

C- Deployment plan

D- Contingency plan

Answer: 
A

Explanation: 
A rollback plan is a part of the project management plan that defines how to revert the system to its previous state or baseline if the

change or migration fails or causes unacceptable impacts1. A rollback plan is different from a contingency plan, which is a plan to deal

with a specific risk event that may or may not occur2. A release plan and a deployment plan are not relevant to the scenario, as they are

used to plan and execute the delivery and installation of the system, not to undo them. Therefore, the correct answer is A. Rollback plan.

Question 3
Question Type: MultipleChoice

Which of the following are primary features provided by a standard laaS solution? (Select two).



Options: 
A- Encryption

B- Storage

C- Networking

D- User interface

E- Access

F- Database

Answer: 
B, C

Explanation: 
According to What is Logging as a Service (LaaS)? - LogicMonitor, LaaS is a cloud-based log management platform that simplifies the

management of infrastructure and application logs. LaaS offers a central location where you can store, analyze and visualize the content

of all your logs. It works by ingesting logs from different sources, such as web servers, IoT devices, database servers and more. It then

provides actionable output by organizing and restructuring the information within these logs. Therefore, storage and networking are

primary features provided by a standard LaaS solution, as they enable the collection and transmission of logs from various sources to a

centralized platform. Encryption, user interface, access, and database are not primary features of LaaS, as they are either optional or

secondary aspects of the service.



Question 4
Question Type: MultipleChoice

Project stakeholders have asked the team to use Scrum to run a software implementation project. Which of the following is most likely to

take place during a Scrum ceremony?

Options: 
A- Reviewing project blockers

B- Defining roles and responsibilities

C- Establishing a project schedule

D- Determining a project budget

Answer: 
A

Explanation: 



According to Four agile ceremonies, demystified, one of the Scrum ceremonies is the daily stand-up, which is a short meeting to discuss

progress and identify blockers. Blockers are any issues or impediments that prevent the team from completing their tasks or achieving

their goals. Reviewing project blockers during the daily stand-up helps the team to resolve them quickly, collaborate effectively, and stay

on track1. The other options are not likely to take place during a Scrum ceremony, as they are either part of the initial project planning or

outside the scope of Scrum.

Question 5
Question Type: MultipleChoice

Following the approval of a change by the CCB, which of the following should a project manager consider next when deploying a new

networking device into an existing production environment?

Options: 
A- Maintenance window

B- Risk assessment

C- Operational security

D- Validation check



Answer: 
A

Explanation: 
A maintenance window is a predefined period of time during which planned changes or updates can be performed on a system or

network with minimal impact on the users or business operations1. A project manager should consider the maintenance window next

when deploying a new networking device into an existing production environment, as it will help to reduce the risk of downtime,

disruption, or errors. A maintenance window should be scheduled in advance, communicated to the stakeholders, and aligned with the

change management plan2.

Question 6
Question Type: MultipleChoice

A sponsor prefers to communicate with the team using email, phone calls, conversations in the hallway, and impromptu meetings. Which

of the following types of communication is the sponsor using?

Options: 



A- Informal communication

B- Formal communication

C- Synchronous communication

D- Asynchronous communication

Answer: 
A

Explanation: 
Informal communication is a type of communication that is casual, spontaneous, and unstructured. It does not follow any predefined

rules, protocols, or formats. Examples of informal communication include email, phone calls, conversations in the hallway, and

impromptu meetings12. The sponsor is using informal communication to communicate with the team, as these methods are convenient,

flexible, and personal. However, informal communication may also have some drawbacks, such as lack of documentation, inconsistency,

and potential for misunderstanding3. Therefore, the sponsor should also use formal communication when necessary, such as for official

reports, contracts, and presentations4.

Question 7
Question Type: MultipleChoice



Which of the following is a capital expense?

Options: 
A- Building lease

B- Building purchase

C- Building maintenance

D- Building insurance

Answer: 
B

Explanation: 
A capital expense is the cost of acquiring or making improvements to fixed assets that have a useful life of more than one year1. A

building purchase is an example of a capital expense, as it is a long-term investment that increases the value of the company's assets2.

Building lease, maintenance, and insurance are not capital expenses, as they are recurring or short-term costs that do not increase the

value of the company's assets3.
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